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4.1.4.2-6
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1.
1.1
4.1.4.2-2
4.1.4.2-2
(m) 97.0 59.3 117.5 76.5 83.0 98.0 62.0 117.0 99.5
(m) 460.0 180.0 450.0 295.3 192.0 248.2 313.0 390.4 620.0
(km?) 128.4 54.6 805.0 359.0 491.0 185.0 89.0 33.7 26.5
(km®) 2.7 2.0 3.6 1.8 1.9 2.0 1.1 0.4 1.21
() 71,000 22,300 123,000 46,000 54,600 59,300 23,300 13,600 42,500
() 68,000 22,000 77,500 35,200 47,100 52,300 21,000 11,800 41,500
(ELm) 292.5 374.3 160.0 177.0 273.0 336.0 162.0 199.1 274.5
5 1 3 238m 292m
163.3
133 157m 174.0m
269m 323m
14.3 30.0 37.0 46.0 32.5 49.9 70.0
(x 105m3) 161.63 106.62 1,656.43 695.10 980.71 455.96 120.29 24.72
S63-H9 S56-H12 S40-H11 S46-H11 S47-H11 S47-H11 S60-H11 S62-H11
2.3 4.8 13.5 15.1 18.0 7.7 5.2 1.8
(T-P) 0.026 0.041 0.029 0.033 0.016 0.025 0.012
)1.
2.
3. (T-P) 6 10
4.
5.
( 2 9 )12)
2003( 15 2 )®
1998( 13 12 )%
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5.
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1.2.7

SS COD
56
15
4.1.4.2-4 SS COD
SS COD T-N I-N T-P 1-P 4.1.4.2-11
4.1.4.2-4 ( )
q (m/s/km?)
F=4.0028x ¢*-%°"° (g<0.1)
COD | g/s/km?
/~16.616x ¢*%%¢ (q 0.1)
/-65.382x ¢-%°"® (g<0.1)
SS | g/s/km?
1=429.66x 7 (q 0.1)
1=0.3024x g3 (g<0.1)
0-N | g/s/km?
1-0.8634x ¢~ (q 0.1)
I-N_ | g/s/km? /=0.7287x g%
0-P | g/s/km? /=0.2058x ¢*-8080
1-P | g/s/km? /=0.0776x @+-%%
DO=
DO mg/L (10.291-0.2809x Twt +0.006009x Twt 2-0.000063x Twt *)
x 32.0/(22.4x (1+ Twt /273.0))
Chl-a | p g/L Chl-a=0.38

4.1.4-171




(9/s/kn?)

CoD

(9/s/kn?)

1-N

(9/s/km?)

1-P

100

10 ¢

0.1

0.01

0.001

0.01

10

0.1

0.01

0.001

0.01

0.1

0.01

0.001

0.0001

1 I I

y = 16.616x" %%

y = 4.0028x* %"
(9<0.1)

0.1

1

(m*/s/kn”)

[
y = 0.7287x"'#

0.1

1

(m*/s/kn”)

y = 0.0776x"%%

0.01

0.1

(m*/s/kn?)

4.1.4.2-11

L4 O
1000 —
y = 429.66x% 74"
O 100 ¢t R | ]
£
> 10 f
N
N/
1 -
0.1 - a9 —— R | ]
% 0.01 +t--—-+--+----—-1 y = 65.382X1'9078,,
(a<0.1)
0.001 LIl
(m*/s/kn?)
d O
10 I T TTTTT T
y = 0.8634x' "%
~
N o
(2]
N
NS
0.1}
0.01 F--- |
2 y = 0.3024x**™
(0<0.1)
0.001 LLUE L L
0.01 0.1 1 10
(m*/s/kn”)
i O
l [ I T TTT
y = 0.2058x'-%%®
o
g o1
(2]
N
\S
0.01 T
L
o 0.001
)
0.0001
0.01 0.1 1
(m*/s/kn?)
( )

4.1.4-172



SS

14 15
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SS COD
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15
4.1.4.2-6 SS COD
SS COD T-N I-N T-P 1-P 4.1.4.2-12
4.1.4.2-6 ( )
q (m/s/km?)
COD | g/s/km? /-8.8283x 4823
SS | g/s/km? F1=63.777x ¢-%%3
0-N | g/s/km? 1=0.4029% ¢g'-4%%®
I-N | g/s/km? /=0.6139x g*-13""
0-P | g/s/km? /=0.1250% g+
1-P | g/s/km? /=0.0310x ¢-118
DO=
DO mg/L (10.291-0.2809x Twj+0.006009% Twj 2-0.000063x Twj °)
x 32.0/(22.4x (1+ Twj/273.0))™
Chl-a | pg/L Chl-a=0.26
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4.1.4.2-7
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4.1.4.2-7

M 0.00385
Rs - :1.20 :1.20 :1.20
T :10.0 :20.0 :25.0
N :2.0 :2.0 :3.0
Is Cal/cm?/ 200 300 400
Ky g-IN/m3 :0.020 :0.020 :0.020
Koy g-1P/m? :0.0010 :0.0010 :0.0010
Rep 20 :0.09 :0.09 :0.09
8 Rep 1.05
Wep m/ :0.10 :0.10 :0.01
Ry 20 - 0.015
0, Ry 1.05
W, g-IN/m2/ 0.025
0 w Wiy 1.05
Wyo m/ 0.10(g<0.1) 1.00(g 0.1)™
Rp 20 - 0.010
9, R 1.05
Wip g-1P/m?/ 0.005
0 Wy 1.05
Woo n/ 0.15(g<0.1) 1.00(g 0.1)™"
W, m/ 0.03
f. 20 COoD -t 0.010
CoD 0 . f. 1.05
Weop g-CoD/m?/ 0.30
IS Weop 1.05
Weo m/ 0.10(g<0.1) 1.00(g 0.1)™
- Rea 1.00
0w Rux 1.04
Rep g-0,/mg-Chl-a/ 0.15
Ryc -t 0.020
0 Ric - 1.05
Res g-0,/m? 0.6
0 Res 1.05
SS \ SS m/ Stokes
By g-N/mg-Chl-a 0.010
Be g-P/mg-Chl-a 0.0008
fo CoD g-CoD/mg-Chl-a 0.10
a 0.03
B 0.6
n, 0.6
n, 0.001
AX m?/ 200,000
Az m?/ Az = 0.000001 exp(-1.0 Ri)+ 0.0000001"
)1.*1:q (m®/s/km?)
*2: Richardson Ri Richardson
2 -
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